30.2.1 HIE kA TEEADOR v REER

AN A H LRI EES IS tHasEhRe N E)
JLRG HaFL 5 | gl Aol ] AL el Rl Al sl AE (5 [ (&)
ik 45, 618][ 109, 349] 53, 540] 55, 809 42 -4 -55 62 117 51 455 404 0 111 111
HI—TH 665 1,431 702 729 -1 0 -3 0 3 3 4 1 0 1 1
S =T B 540 1,318 666 652 -3l -14 -1 0 iy -13 0 13 0 0 0
SLIL=TH 446 1,040 507 533 -5 -6 -2 0 2 -2 0 2 -2 0 2
Sul&E| 1,651 3,789 1,875 1,914 -9  —20 —6 0 6] -12 4 16 -2 1 3
o an—T1H 475 1,017 483 534 1 2 0 1 1 1 5 4 1 1 0
Heorn " TH 750 1,856 905 951 —4 -2 0 2 -2 1 3 0 0 0
Mo R —TH 519 1,263 625 638 2 2 4 2 2 4 2 -2 1 3
g AaMNT H 373 920 450 470 0 -1 0 1 4 5 1 -3 1 4
o] H 551 1,266 620 646 -1 -5 0 0 0 —4 2 6 -1 0 1
g ST H 228 510 243 267 0 -1 —4 0 4 3 3 0 0 1 1
s ntTH 621 1,634 808 826 1 1 0 0 0 1 1 0 0 1 1
g\ TH 390 926 460 466 -2 -6 -3 1 4 -6 2 8 3 3 0
I 587|1 1, 460 719 741 -3 4 0 0 0 -3 2 5 7 8 1
s o k] 4,494 10,852 5,313| 5,539 2 -7 -8 6 14 —4 25 29 5 16 11
Hik R — 1 H 320 802 407 395 2 3 1 2 1 0 1 1 2 2 0
I S = 931 2,060 1,024 1,036 3 7 -1 1 2 0 5 5 8 8 0
6 = 661 1,476 715 761 1 2 -2 0 2 4 6 2 0 0 0
wakr naet 1,912 4,338 2,146] 2,192 6 12 -2 3 5 4 12 8 10 10 0
ek BR—TH 561 1,270 624 646 -1 —4 -1 0 1 1 2 1 —4 0 4
PSR T H 379 908 482 426 2 2 0 1 1 2 3 1 0 1 1
2 = 245 558 278 280 -2 -2 0 0 0 0 1 1 -2 0 2
£ S N 539 1,335 688 647 0 3 -2 0 2 2 3 1 3 4 1
s A el 1724l 4,071 2,072 1,999 -1 -1 -3 1 4 5 9 4 -3 5 8
T 5757) 356| 1,000 445 555 -3 ~7 0 1 1 —4 1 5 -3 0 3
HOEE ) — 1 H 152 385 185 200 0 1 0 0 0 5 5 0 —4 0 4
HOEER) T H 404 987 474 513 -1 -3 0 1 1 -2 1 3 -1 0 1
HOEE) =T H 656 1,689 816 873 -2 -5 -2 0 2 -2 2 4 -1 0 1
HOEESI Y T H 708 1,803 875 928 1 3 1 1 0 -1 1 2 3 3 0
HOEE) ] H 384 941 470 471 3 4 -1 1 2 5 7 2 0 0 0
HOEEH S T H 395 961 467 494 -2 -5 0 0 0 -1 0 1 —4 0 4
HOEE I T H 624 1,447 702 745 -14]  -17 -2 1 3 -13 0 13 -2 0 2
HOEEF DA 3,323 8,213] 3,989] 4,224  -15] 22 —4 4 8 -9 16 25 -9 3 12
PEEER| 1,464 3,034] 1,414 1,620 0 -6 -5 1 6 -1 12 13 0 0 0
FHIAR 329 721 363 358 -1 -1 -1 0 1 -1 0 1 1 1 0
Ewtlﬂy% TH 446 985 479 506 2 4 1 3 2 1 3 2 2 2 0
wﬂlﬂy& TH 229 481 248 233 2 2 1 1 0 2 1 -1 0 1
B =T H 483 1, 142 571 571 6 6 1 1 0 5 2 0 0 0
TSEEM%IEITH 563| 1,223 578 645 8 9 -1 1 2 10 15 5 0 0 0
m g T H 203 528 255 273 1 1 0 0 0 0 0 0 1 1 0
EE g A E 1,924 4,359] 2 131 2,228 19 22 2 6 4 18 28 10 2 3 1
‘EE AR — T H 644 1,392 658 734 10 0 0 0 8 11 3 2 3 1
B AR — T H 617 1,320 617 703 6 0 1 1 10 11 1 —4 2 6
ﬁ%% ARTEEH 1,261 2,712 1,275 1,437 12 16 0 1 1 18 22 4 -2 5 7
IR 323 899 501 398 9 9 0 0 0 9 12 3 0 0 0
HHR—TH 684 1,677 836 841 -14]  -16 -3 1 4 -8 2 10 -5 0 5
HR T H| 1,489 3,653] 1,800] 1,853 —4 -1 1 4 3 —6 12 18 4 4 0
HHR=TH 812l 2,190l 1,075 1,115 -1 —6 —4 0 4 2 3 1 —4 0 4
HARIT H 463 1,121 538 583 0 -3 -1 0 1 -2 0 2 0 0 0
HRAE 3,448 8, 641| 4,249 4,392  -19] -26 —7 5 12 -14 17 31 -5 4 9
JeHR—"T H 621 1,531 753 778 7 17 2 3 1 8 11 7 7 0
AR _TH 827 2,158 1,064| 1,094 3 —4 0 4 8 13 -1 1 2
EHIR="TH 434 954 497 457 2 1 1 0 4 6 -3 0 3
bR EEF 1,882 4,643 2, 314] 2,329 10 22 -1 4 5 20 30 10 3 8 5
H BT 322 817 388 429 0 -5 0 0 0 —4 0 4 -1 1 2
WEl 1,569 4,988 2,275 2 713 -2 —4 -3 2 5 -1 11 12 0 1 1
P 769| 1,878 931 947 1 1 3 4 1 0 4 4 -2 0 2




30.2.1 B kA TEEADOR e ol AREER
A0 A H LRI EES IS tHasEhRe N E)
JLAG TR 5 sl Anl ] ARl el sEE] isAl @il AE] (H) [ (—)

HAE T A 696f 1,860 954 906 -2 -3 1 1 0 -3 0 3 -1 3 4
FYE =T H 632 1,597 795 802 5 1 3 2 3 4 1 1 1 0
FAAIEM T H 873l 2,192 1,077 1,115 -1 0 3 3 -1 2 3 1 3 2
Y E T H 567 1,393 687 706 4 -2 0 2 5 7 2 3 4 1
FAIEST H 404f 1,040 500 540 -1 -3 0 0 0 -3 0 3 0 0 0
mEaEr 3,941 9,960] 4,944] 5,016 3 1 8 1 17 16 2 11 9
s 498[ 1, 140 560 580 —5 0 5 5 6 1 0 2 2
e —TH 325 687 335 352 -1 0 1 -1 3 4 5 5 0
e — T H 580 1,356 660 696 -4 -12 -3 1 4 -3 1 -6 0 6
RN 905 2,043 995 1,048 -9 —4 1 5 —4 4 -1 5 6
El—TH 305 677 326 351 5 4 1 1 0 3 98 95 0 0 0
B T H 635 1,393 679 714 10 0 0 0 8 1 3 4 1
B =TH 378 985 501 484 1 0 0 0 0 1 1 0 0 0
Bl aEt] 1,318 3,055 1,506 1,549 10 14 1 1 0 10l 107 97 3 4 1
HHE—TH 383 1,039 498 541 0 —4 1 1 0 -5 0 5 0 0 0
HUE T H 431 1,107 538 569 1 6 -1 0 1 0 2 2 7 7 0
s —TH 764 1,958 986 972 4 0 -3 0 3 4 12 8 -1 4 5
HHIEMT H 4521 1,058 509 549 0 -5 -2 0 2 -2 2 4 -1 0 1
HHIE LT H 7331 1,692 825 867 0 -2 0 0 0 2 8 6 —4 4 8
HHIESNT H 226 488 248 240 -1 -2 -1 0 1 -1 0 1 0 0 0
WHEAE 2,989 7,342 3,604 3,738 4 -7 —6 1 7 -2 24 26 1 15 14
<HX—TH 608[| 1,455 715 740 4 3 -1 0 1 0 2 2 4 4 0
<HXL—TH 698[| 1,560 774 786 0 1 -2 0 2 3 9 6 0 0 0
<HX=TH 506 1,185 594 591 -3 -5 -1 0 1 -3 2 5 -1 0 1
<HXWMTH 4931 1,111 551 560 0 1 -1 1 2 4 8 4 -2 0 2
<HXHTH 379 819 462 357 -1 -2 -1 0 1 -2 1 3 1 1 0
<X EE] 2,684 6,130] 3,096 3,034 0 -2 -6 1 7 2 22 20 2 5 3
WIEARIT—TH 768 1,722 867 855 —4 -7 1 2 1 -3 7 -5 1 6
HEART T H 4240 1,099 544 555 2 2 1 1 0 1 5 0 0 0
PIEARTAE 1,192 2821 1,411] 1,410 -2 -5 2 3 1 -2 10 12 -5 1 6
L¥E 447 859 429 430 2 3 -1 0 1 3 5 2 1 1 0
ok — 1 H 967 1,604 705 899 -1 1 0 0 0 2 16 14 -1 0 1
kA 1 H 377 643 298 345 4 2 1 1 0 0 6 6 1 1 0
ok A= 1 H 598| 1,662 775 887 1 5 4 4 0 1 2 1 0 0 0
ook AT H 361 799 385 414 4 7 0 1 1 5 6 1 2 2 0
gk & E 2,303 4,708] 2,163] 2,545 8 15 5 6 1 8 30 22 2 3 1
FRIREET H 21 61 31 30 0 0 0 0 0 0 0 0 0 0 0
SRy 756 1,843 894 949 -2 -5 -2 1 3 1 6 5 —4 0 4
GEA] 272 669 326 343 4 0 -1 0 1 1 3 2 0 0 0
W ] — T 393 1,067 543 524 -2 0 -1 0 1 -3 1 4 4 4 0
] T H 320 766 386 380 0 1 0 1 1 1 2 1 0 0 0
R AT 713 1,833 929 904 -2 1 -1 1 2 -2 3 5 4 4 0
a1 H 600 1,344 678 666 0 0 -2 0 2 5 13 8 -3 0 3
a1 H 484f 1,220 583 637 1 3 1 2 1 2 4 2 0 0 0
PEEE A Er 1,084 2,564 1,261 1,303 1 3 -1 2 3 7 17 10 -3 0 3
e 284 673 336 337 0 0 -1 0 1 -1 2 3 2 2 0
IR 229 571 305 266 1 0 0 0 0 0 0 0 0 0 0




